BEARBEEF) [£5E] * RERIRE (F A< 0.5) = 45 20254 BIEA ~ 20254 HIHE 2025434258 (K)  ~  202544[27H(H)

EA:0) BrIE [ BAR | BSR | R (&7 7[: e B | m=H | = | BRE 1% | 1% | E=k g;% HWRIT | ATR ;i_ :g o Eg i $g i WAE | SR 5Lﬁ SIER T | BB | A | BER | BT f#f& o 4&;;;% %;}; iRk | HARE i 2 . }f :ﬁf’ K/BB | WHIP [ MVP
R 18.00 1 0 0 0 0 - 0 0 1 7 6 1] 9.00 3] 500 2 1 0 0] 000 1] 9.00 0 0 0 2 2 2 0 0 0 0 0 0 o| oo 400 0
AE RA 18.00 1 0 0 0 0 - 0 0 1 6 6 1] 9.00 3] 500 3 0 0 0] 000 0 000 0 0 0 2 2 2 0 0 0 0 0 0 0 -1 300 0
=l 0.00 1 1 0 0 0| 1.000 0 0 3 15 12 1] 300 2| 167 1 1 0 0 000 2| 600 1 0 0 1 0 7 0 2 0 0 0 0 1| o050| 133 0
i KA 0.00 4 1 0 1 0| 1.000 0 0 7 % 25 6| 11 4| .60 3 1 0 0| 000 1] 129 0 0 0 0 o| 15 0 0 0 0 0 0 0| 600 071 2
=11 1.80 1 0 1 0 0| .000 0 0 5 7] 21 6| 10.80 4] .190 2 0 1 1| 180 5| 9.00 1 0 0 6 1 9 0 2 0 0 0 0 0| 120 180 1
*E EH 6.00 2 0 1 0 1| 000 0 0 6 2| 28 3| a50| 10| 357 8 2 0 0| 000 2| 300 2 0 0 4 4| 15 0 0 0 0 0 0 0| 150 200 1
A Y 19.29 3 0 0 0 1 - 0 0 42/3] 36 28 4] 1| 13] .64 9 4 0 0| 000 6| 1157 2 0 o 12 10| 10 0 1 0 0 0 0 0| o067 407 2
BiE 5 12.00 2 0 0 0 0 - 0 0 3 18] 14 4] 12.00 5| 357 4 1 0 0] 000 3] 9.00 1 0 0 4 4 5 0 0 0 0 0 0 o| 133] 267 0
B = 0.00 3 1 0 0 0| 1.000 0 0| 1023 46 40| 12 1013 7| a1s 7 0 0 0| 0.00 6| 506 0 0 0 1 0| 15 2 4 0 0 0 0 1| 200 122 0
FE T 0.00 1 0 0 0 0 - 0 0 2 9 8 0] 000 1 a2 1 0 0 0 000 0] 000 1 0 0 0 0 6 0 1 0 0 0 0 0 -1 050 1
eSS 4.50 2 0 0 0 0 - 0 0 4 2 16 5| 1125 4] 250 1 2 0 1] 225 4] 9.00 1 0 1 7 2 6 0 1 0 1 0 0 1| 125] 200 0
HE RH 0.00 1 0 0 0 0 - 0 0 1/3 1 1 0 000 0| .000 0 0 0 0] 000 0] 000 0 0 0 0 0 1 0 0 0 0 0 0 0 -1 000 0
HE A 12.00 1 1 0 0 0| 1.000 0 0 3 16| 12 3] 9.00 4] 333 3 1 0 0 000 1] 300 1 0 2 6 4 4 0 1 0 0 0 0 o| 300 167 0
R BA 12.00 1 0 1 0 o| 000 0 0 3 19 17 2| 600 7] 412 6 1 0 0 000 2| 600 0 0 0 6 4 7 0 1 0 0 0 0 o| 1oo| 3.00 0
A BA 4.50 2 0 1 0 1| .000 0 0 8 4| 31 5| 563 7| 226 5 1 0 1] 113 2| 225 1 0 0 4 4| 18 0 1 0 0 0 0 1| 250 113 1
=& K 0.00 1 0 0 0 0 - 0 0 1 5 4 0] 000 1] 250 1 0 0 0] 000 1] 9.00 0 0 0 0 0 3 0 0 0 0 0 0 o| o000| 200 1
ik 8K 9.00 1 0 0 0 0 - 0 0 1 8 6 0 000 2| 333 2 0 0 0 000 2| 18.00 0 0 0 2 1 3 0 1 0 0 0 0 0| o000| 400 0
B> A 1.80 1 0 1 0 o] 000 0 0 5 31 2 0] 000 9] 346 7 2 0 0] 000 3] 540 2 0 0 8 1l 15 0 2 0 0 0 0 o] o000 240 0
23— X 511] 29 4 5 1 3] 444 0 0] 682/3] 358] 301] 53] 695] 86| 286] 65 17 1 3] 039] 41 537] 13 0 3] 65 39] 143 2] 17 0 1 0 0 4] 129] 185 9




